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o/ (10° | /K of (10° | T/K
N-m™) N- m™)

( ) 72.75 293 [W( ) 2900 | 2000
( ) 22.75 293 | Fe( ) 2150 | 1673
( ) 28.88 293 Fe( ) 1880 | 1808
( ) 23.7 293 | Hg( ) 485 | 293
( 8.5 293 | NaCI( ) | 227 |298

( 27.5 293 | KCI( ) 110 | 298

( 51.1 293 [Mgo( ) | 1200 |298

( 18.4 293 |CaF,( ) | 450 |78

( 50.8 293 | He( ) 0.308 | 2.5

( 21.8 293 | Xe( ) 18.6 | 163
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//m A/ m? A, m!
1072 1 6x10°* 6x10°
10°° 10° 6x10°° 6x10°
10°* 10° 6x102 6x10%
107 10° 6x101 6x10°
10°° 1012 6x10° 6x10°
1071 10%° 6x10* 6x10°
1078 10'® 6x10° 6x10°
107° 104! 6x10° 6x10°
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/-2  298.15K 2337.8Pa

0.9982x 103kg.m3, 72.75x 103N.m-1
10°>—10"°m
pr/lvo
10>m
-3 -3
in2r = 20M _ 2x72[J5x10 " x18 E(D15><1O_5 1107 x10™
Po PRTr  8[B14x293[15%998 [2x10
Pr —1001
Po
r=-10"m

infr = _1001x10™* £~ =0.9999
Po Po



pr/po

1.0001 1.001 1.01 1.114
0.9999 0.9989 0.9897 0.8977

2.937
0.3405
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@ = 483-375-72.8 x 103N.m1=35.2x 103N.m1>0
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dG= SdT +Vdp +odA4_( )
dG od4A >0



100 0.9982x 10°kg.m3
58.9x 103N.m1
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p, _20M _ 2x58@x10° x18[015x10
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po  PRTr  8[B14x373[15x998 2 %10 "

nfr =—00685 £r=00934
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Ap=20/r=2x 589% 10-3/(-10%)Pa=117.8x 10°Pa
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-3
Ap = 20 _ 2><58[9><710 B = 2 356 x10° Pa

4 5x10

p=p 0p=(L01325 2.356)x 105Pa= 3.36925x 105Pa
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C,HOH— Y CH,CHO+H,C,H.OH
200- 250°C
Al ThO
cHoHADs 102 oy po
350 - 360°C
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250°C
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